Selected answers third set                          Econ 200A               Professor Leffler


a.  b.  True fewer sellers.  d.  False - differentiated products, difficult to agree since competition is typically on dimensions other than price (e.g., product image).  

c.  All questions concern price discrimination.  Look for some understanding that the seller would like to charge the more (less) responsive buyers a lower (higher) price and that the indicated practices may use another variable to identify or proxy for elasticity.

c.  people that "shoppers" are more likely to save and use the coupons.  These are likely the same people that will switch brands with a lower price (i.e., more responsive.)

b.  some people will go through the jars looking for jars that are lower priced others will just grab.  If the lookers are those who respond more to price cuts (e.g., will buy two jars of low marked coffee), price discrimination is accomplished.

d.  If parent's income is related inversely to elasticity (remember that a "higher" linear demand is less elastic), then this will effectively allow schools to charge higher prices to the richer kids

f.  a.  Price affects the seller's quantity demanded in a significant way.  Therefore, the seller can not "take the price" but rather must search for the best price.

    b.  By setting a price of $2.00, the proprietor can make $1600 selling sandwiches.  But the opportunity cost is $2000, hence the best action is to give up the space 

and be a pizza chef.

    c.  The best prices are $2.00 to the students and $3.50 to the hospital patients (look for some evidence of the profit calculation).  Hence set a sandwich price of  $2.00 and a $1.50 for delivery.

1.  A.  Of course, the "capital" is what lies behind roundabout production.  The use of the capital typically increases the workers' marginal product.

     B.  No one would contribute their capital without  compensation.  All tools would have to be owned by the users.  Production lines, plants, ect. would not be available.  Addition laborers would be become far less valuable to potential employers.  Wages should fall.

2.   WAGE     #  PAWS MP  VMP  VTP

 
$3.50  1   1          1       $3   $3

 
$4.00  2   3          2       $6   $9


$4.50  3   6          3       $9   $18


$5.00  4   8          2       $6   $24


$5.50  5   9          1       $3   $27


$6.00  6   10        1       $3   $30

   a.  Demand is given by # and VMP equal or below $6 (note that at a wage of $7, the entrepreneur can not pay his or her costs at any hiring level.)  Supply by # and WAGE.  Hence the equilibrium wage must be between $6 and $5.

   b.  Again if the wage is set any higher than $6 the firm shuts down.  Hence we should expect the union wage to be $6.

3. a.  T, when I worked as a waiter years ago, I consciously psyched myself up and put on my "happy face" before going into work because the more pleasant I was, the bigger my daily pay.

      b.  Generally false.  With no tips, the same employees can be attracted only by the proprietor making up the loss.  He can raise his prices to do so.  However, the effort levels of the servers will fall and the value of additional servers 

will fall.

      c.  Partly T, partly F.  Servers would prefer a guarantee of the same average hourly wage.  They then could be slow and surly and still get the same income.  However, this is not an equilibrium.  If the guaranteed wage is based on the 

average performance, individuals will not put forth the effort that maximizes their reward and the actual wage they can get will fall.  Servers who believe they can perform above "average" prefer their reward to be tied to their Employer do scrutinize the workers less intensely since the servers bear most of the cost of doing a poor job.

     d.  T.  The customers are in the ideal situation to judge performance.  The employer could try post meal surveys (and they do) but measuring customers willingness to pay is a far more reliable indicator.

4. a.  F.  This will cause Boeing to hire fewer engineers which will increase the supply of engineers at General Dynamics and thereby likely lower the wages there.

b.  Uncertain.    Since Airbus makes planes that are very close substitutes for Boeing planes, the difference from case a. is that the demand for Airbus planes will likely increase as a result of the increased cost faced by Boeing.  This affect will benefit the engineers at Airbus.

c.  T.  Now we only have the beneficial effect of B.

5. a.  T.  The discriminated against impose costs on bigots since by refusing to deal with them the demand for their good falls as does its price.  The bigots also therefore pay a price for their actions.

b.  F.  Irrelevant.  In sharing economies everyone also acts in their own self interest.

c.  T.  Consider employment discrimination defined as paying some individuals a wage that is less than their value of marginal product because of some personal characteristics.  Any entrepreneur without the bigoted taste can become rich 

by exploiting this wage-VMP differential.  Competition among such entrepreneurs will tend to increase the wage to the discriminated against.

d.  F.  This is one of those nonsense statements teachers include in multiple choice questions because we can't think of enough challenging possibilities.

6. a.  F.  At a low enough wage rates, thousands upon millions can be employed.  How many of us would like and pay for (perhaps a small amount) a driver, a personal trainer, a cook, a maid, ect., ect.  This answer is a subtle but nonsensical version of "there are not enough jobs."

b.  F.  See a.

c.  T.  Employees cannot tell when there has been a permanent decrease in the value of their services to all employers versus a decrease only to their current employer.  They therefore will typically not take (and employers don't offer) significant wage cuts that would maintain their current employment.  Unemployment is the manifestation of people determining through search their true market value and best opportunities.

d.  T (or Uncertain).  Wages that are above the equilibrium level can clearly lead to unemployment, indeed very significant unemployment in certain demographic groups (teenagers - with low experience and education).  However, this source of unemployment is always with us and it not what leads to "large" levels.  Rather factor c. occurring in many places simultaneously will be at work (e.g., cutting defense spending, while import restrictions are lifted, while interest rates are falling, while innovations in microchips is rapid - lots of changes.)

7.  Any of these can be true.

a.  If prior changes have lead to significant unemployment among social workers, then the new programs initial impact may be to reemploy these workers.

b.  If individuals do not reduce their private spending in response to future increases in taxes to pay off the debt, they are being fooled as to their true wealth.  Therefore their demand for "current consumption" is higher than if they had better information.  The effect is to eliminate the change that causes the unemployment (at the cost of an incorrect mix of goods since we are not perceiving the true economic cost of the government provided goods and services.)

8  a.  F.  Employers will "layoff" clerical workers.  Which will reduce the total value of the workers' product.

    b.  T.  The marginal of the marginal product will rise with the reduction in employment.

    c.  T.  To the extent that the comparable worth legislation controls the money wage but not benefits, the employers will attempt to circumvent the law by lowering the other benefits

9.  If employers must compete with one another in attracting employees, the work hours and working conditions are determined by that competition in that extra hours are demanded and work conditions imposed only if the increased product (and higher wage that can be offered) offset the cost.   If however there were only a single monopoly employer, that employer would look to the "marginal increase in wage cost" where the workers option is leisure rather than other employers in making the hours-conditions decision.  In this latter circumstance, the union equalizes bargaining power matching a monopoly against a monopoly of workers.

10.  The problem unions face is the competition their employers face from others.  By raising wages, the unionized companies have higher costs and the competitors undercut their price.  The unionized employer reacts by cutting back further union employment.  Hence unions lobby vigorously to raise the cost of 

their employers' competitors.  Strong support of increased minimum wages and of import restrictions are such policies.

11.  A parameter of demand is income.  We are endowed with leisure which we sell as labor.  An increase in our income leads to an increase in our demand for leisure (leisure is a normal good.)  An increase in the wage therefore leads us to 1) substitute other goods for leisure because the relative price of leisure (the forgone earnings from working an extra hour) increase, that is, we supply more labor hours due to this income effect; and 2) an income effect causing us to increase our relative value of leisure since we have more of other goods, that is, we supply less labor due to this income effect.  At low (high) wages the substitution (income) effect is found empirically to dominate.

13  a.  The increased price of the substitute for experienced low skill workers, entry level low skilled workers, will increase the demand for the experienced workers, increasing their wages and incomes.  If fringe benefits are a "normal" good, the fringes will increase for these workers.

     b.  Of course, "fringe benefits" for any employed entry level low skilled workers will fall as the employers attempt to circumvent the minimum wage by, in effect, having the workers pay themselves for what before was paid by the employer.  Paid uniforms are such a "fringe."

     c.  Yes, the employers will be hiring until the VMP equals the wage.  Since both wages should rise, so will VMPs.

14.  Much unemployment arises because workers seek to search out their best alternatives.  Without the privilege to search, workers on average would be taking jobs with wages (and incomes) lower than they believed were available elsewhere.

15.  I am simply looking for a "listing" with brief explanations of the factors that can explain wage differentials with a minimal connection to possible male/female distinction.  (Full time/part time, hours per week, education, experience, time on one job, selection of jobs that value uninterrupted employment, job characteristics, discrimination,...)

16   a.  More part time women workers, lower average level of education, lower average level of experience, less average hours for full time workers, many women select jobs allowing them to leave for a period to have and raise a child.

    b.  Economic discrimination means that the wage paid is less than the value of the marginal product.  This implies an employer makes more profit or rent from hiring a discriminated against worker.  Therefore, there is an economic incentive for an non-discriminating employer to specialize in hiring the group discriminated against.  Competition among these employers to hire the discriminated will result in increasing the wage.  Sufficient non-discriminating employees will eliminate the economic discrimination.

17 a.  4 employees.  For the first three employees the marginal product rises.  For the fourth we first have a marginal product that diminished.  Thus the "returns" from an extra worker "diminished" as compared to the previous worker.  This occurs because of reduced opportunities for increased specialization and team production and the increasing monitoring costs with increased employment.

 b. At 4 the value of the marginal product (=$7.50) (the benefit) just still exceeds the wage (the cost.)  (Give nearly all credit to an answer of 4.)  However, the total revenue to the employer of $55 is less than his cost of  $27.50 for materials and $28 for workers.  None will be hired.

 c.  Given b. is 0 there is no union and nothing to answer.  If the students answer b. with 4, then give credit for a wage rising to $10 (or $9.99) with one worker getting the $7 alternative.  Other relevent information -  can the employer increase the price (i.e., is he a price taker), can another technology be selected that changes the demand for labor.

20.  Pollution refers to a situation in which individuals who are not part of a decision are adversely affected (secondary smoke pollution, air pollution, ect.)  The airport baggage handlers willingly accept the noise in return for the tips.  

As long as the level of noise is about equal to what they expected on taking the job, we should not refer to the noise as pollution to them or to other airport workers (or to those of us riding in the airport.)  (As a comparison, it is pollution when the plane goes over the classroom at 10 am disturbing class.)

21.  Not if the level of fumes and noise are about what they expected when they bought the house.

22. a.  F.  Ownership means you decisions control the use of goods and you get the benefits from the use of the good.  The fact that they are legally liable for costs that their actions impose on others is evidence that the stations do not own significant rights..

b.  T.  Clearly, the station "owners" are receiving a good portion of the benefits available from the use of the airways.

23. a.  If the residents are able to form an effective coalition, we might get the efficient level of pollution which is 3 units (where the benefits to the factory still exceed the cost to the residents.)  However, since the residents face a "public good" problem (if one is willing to pay more to reduce the pollution, the others benefit), we will expect the residents to understate their cost to minimize their individual payments.  Hence more than the efficient amount of pollution is expected.  (Note that if the residents own the right to clean air, they will individually likely overstate their cost in order to increase their individual payment, and we will have too little pollution)

    b.  If the pollution can be avoided by moving to another home and the cost of moving is less than the cost of the pollution, we would want either to allocate the rights to the factory or to allow the factory to acquire pollution rights by paying to move the families.

24.  The following table helps:

Height                     

 3       4        5          6          7

Value to Jones   

$550    800    950    1050    1075

Value to Smith   

$600  1000   1225  1350    1350

Total value          
          $1150    1800   2175  2400    2425

MV Both more feet        

$650    375    225        25

Total cost             

$600     800    1000  1200    1400

MC                               

200       200    200      200

24. a.  The fence is a public good for Jones and Smith.  Their values should therefore be added since both can consume simultaneously the fence.  Benefit exceeds cost for 6th but not 7th foot of height.

      b.  Each will attempt to free ride on the other.  If, for example, Smith reveals her true value and Jones reveals 0 a five foot fence would be built at Smith's expense.  This would lead to a greater net benefit to Jones than of sharing the expense of the efficient six foot high fence.

      c.  Each will now tend to reveal an exaggerated value of higher fences since they get the benefit while paying only a trivial part of the additional cost.  Too high a fence is therefore likely.

25 a.  The current residents choose to have a noisy home in return for a lower price home.  Pollution should be used to refer to situations in which parties are subjected to harm without their consent.  These home owners gave consent.  In 

addition, they have been subjected to a positive externality due to the decline in noise (and increased home value).

     b.  With low costs negotiation or bargaining we expect the efficient amount of noise to be produced.

     c.  The airport will now have the incentive to maximize the value of their rentals and their airport, taking into account the effect of noise on the rental values.  No externality.

26 a. Cars should continue to use the road instead of the highway the commute takes 1.5 hours.  This will occur when 16 cars are using the road.

     b. We maximize the social value of the road when 8 cars use it taking fifty minutes each, saving total time with a value of $32.  At the equilibrium, the social value of the road is zero.  Clearly some can be better off without harming anyone else.

     c.  If the road were owned, the owner would charge a toll that maximized his or her income from the road.  In equilibrium the users would continue to use the road as long as they could save time equal to or greater than the toll.  Hence the owner can transfer the social saving to him or her self.  The profit maximizing toll is therefore $4.

27.  a.  Hunters will continue to choose this alternative as long as the gain (value/day) exceeds the $100 cost and they will leave if the cost exceeds the gain. Hence we expect 5 hunters and no surplus to the hunters from the activity.  It is efficient to maximize the gain This occurs at 2 or 3 hunters (gains of $600.)  A private landowner would attempt to make him or her self as well off as possible by charging hunters for the right to hunt.  This will transfer the gain to the land owner such that the maximum surplus results.   The land owner would make the most by charging $200 or $300 with 3 or 2 hunters.

    b.  Since no one owns the game, any value is captured only by being the first to hunt.  Therefore we expect hunting of game with any positive value regardless of whether this leads to the maximum value of the game since any increased value (from for example letting a pregnant deer live to produce two extra deer) is likely to be captured by others.

28 a.  If  the airport is not liable people will make their location decisions given the noise.  Land directly near the runways will be used in ways where noise does not cause large costs (e.g. loud activities like recycling bottles).  The airport will not take into account the cost of its noise and it will have flights that are too noisy (e.g., allow old loud 707s, allow flights in the middle of the night.)  If the airport is liable, people have no incentive to consider the cost to them of noise.  Those the most bothered will still locate by the airport since they will be compensated.  The airport will now cut backs flights to reduce its noise costs.

  b.  The notion is simple - if people can costlessly bargain we expect them to exploit all situations to be mutually better off.  Hence the efficient patterns should emerge regardless who has the rights.  Demonstration of this is most difficult.  An example is useful.  Consider an inefficient residential usage - location in the flight path by a very light sleeper who must be compensated by $200,000 if the airport is liable.  With costless negotiation, this light sleeper would accept a bribe of say $100,000 to not incur the $200,000 loss.  The airport gains $100,000 as does the potential resident for giving up the right to move into the flight path.

 c.  No in two regards.  The value of the land adversely affected by the noise will fall and those moving in later are already effectively being compensated (not by the airport owner but by the prior land owner.)  Secondly, once the airport is in, families that are less sensitive to noise will be those "selecting" to live near the airport.
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